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37. 'R I W' 1 e e F Y w22
(A) TRl frer (B) T Wet et w figern
(C) T+t TouFm=i =Y fiyem (D) ST 7sti i Fan wHen
38.  SAieTeR W R w2
@ (B) wm (©)- fifir (D) =@
The national currency of Sri Lanka is :
() "Euro (B) Kyat (©)- Ringgit (D) Rupee
39. = 2021 F A % i F Wi 2000 T % N H e (T Feferr ) o 22
What is the value (in INR trillion) of Rs. 2000 notes:girculated at the end of Mar the year 2021 ?
(A) 4.90 (B) 1.90 (C)-i 2.00 (D)
40. M T I ST TR SArE UREWA & HRO -ardta e % e ST ST S 2
(A) STEES (B) siefern (C) i .
Which country is known for its extensive use of geothermal to its unique volcanic
landscape ?
(A) Iceland (B) Australia (C) "Brazil D) Norway
41. maﬁ@mﬁaﬁtwwmaﬂ&iﬁg@ | SR <hY SheT ST &
(A) Tl S (B) WaTEA (C)~ (D) U ISM
The economically secure white people migrated:fréin u areas to suburbs is called :
(A) Black flight (B) Migration Amigration (D) White flight
42. st H fra v TR §2 | '
How many countries are present in Africa
(A) 56 (B) 50 (D) 52
43, G H ' SAOEH WA & R ? o A
(A) HIER H Axiharg folet (B) THaw forht sifvmEm
(C) e el i aeehil Tl (D) Ut SR
What is the ‘Operation.Gre nt’ in India ?
(A) Counter-insurge operation in Kashmir (B) Anti-Naxalite operation
(C) Anti-drug trafficki peration (D) : Anti-piracy operation
44. TR Q of ¥ § e G ‘
(A 5 (B) T f2w
(C) o= g (D)  RIerie R I3
The full form of WPl is : g
(A)° Whole Price Index (B) Wall.Price Index
(C) Whole Print Index (D) Wholesale Price Index :
45. foreer = ST womelt H wen o S IR g&1 & el iR wgran fram
(A) 4-5<r@ (B) 1-2@m (€)™ 10-11 &r@ (D) 7-8 @@
The financial or the banking system will receive an‘additional boostintermsof ____ Crore of
base money each year. ‘
(A) 4-5lakh (B) 1-2lakh (C) 10-11lakh (D) 7-8lakh
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- (D) Internal Trade Commerce

HA W i S = ¥ stfumR b &2

Which international treaty focuses on the rights of children ? ICCPR
(A) ICERD (B) CRC _.(C) CEDAW (D)

FI i hodt Wﬂﬂwﬁﬁma’qﬁqmmmaﬁﬂ T 1 TE
(A)  wReE e Wit fafiee (GAIL) [~(B)  Rd Ggerdd
(C) W= 3R winfamw 4 frm fafiee (D) ez ST rirer fafies
Which company has become the first company in Indi
Exchange ? B

(A) GasAuthority of India Limited (GAIL) “"=(B) Bharat Petroleum

(C) Oiland Natural Gas Corporation Ltd. £.-(D)  Indian O Corporatiofi Limited

SAARG 1 el 71 & ? e N
(A) =Y TREE TEHIEEE B IS ﬁeﬂrﬁm Q?
(B) ISY WA THINIUNH Wi JoTet histowr

(C) wru-dw T THRTEI R G Fretae

(D) =Y IHARET THITAUF R {Fer HISTREH @

SAARC stands for :

(A) South Asian Association for Regional Coo ra

(B) South African Association for Reglonal ti

(C) Southeast Asian Association for Regiaf | Coopeération
(D) South American Association for Redignal Caoperation

(A) Fifaer s

(C) Tt d=an (D) . o wRETS .
Who directed the critically a Netflix QTI' series - Delhi Crime ?
(A) Nikhil Advani (B) “Hansal Mehta

(C) Richie Mehta (D) Vishal Bharadwaj

Internal Tax Commerce
(B) Input Tax Credit
(C) International Tax Company

Wﬁ@ayummnﬁﬁﬁmmi
(A) Taaer (B) & (C) feER (D) ~H
National Milk Day is observed in India, in which month ?

(A) September (B) November (C) December (D) June

HOH T TE § 2

a to trade domestic gas on Indian Gas
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- (D) VIRl ISR 39A= Tl

T Tt Afufrem, 1956 foha e ifd wWar s €2

(A) T H (B) EEIH® HX  (C) WA F
National Highways Act, 1956 is applied to which tax policy ?

(A)  Service tax (B) Professional tax (0) Entry tax (D)
el S (an =) R T ¥ L

(A) A= (B) wfuE (O) e (D) oW TE
Galilean satellites (or the four moons) belong to which Planet ?

(A) Neptune (B) Saturn 1‘(d) Jupiter (D) Uranus
S A A R TR (] &
(A)  Ugaf (B) <rREMT 3Tem

(C) NI & H&A IR (D) W

Who has the power to dissolve Lok Sabha ?
(A) President (B) Speaker of Lovii

(D) 3=

Toll tax

(C) Chief Justice of India : (D) Prime Minister

{t]

ﬁqﬁrﬁ@aﬁﬁaﬁqmm%ﬁu@awm (MGNREGA) &t T fagioar 82
(A) fa s 100 f&7 & S TsETR hi TRE 2

(B) fsil &= H ISR i IEHW

(C) o FI Al BT AT HE

S

Which of the following is a featurg @ Mahaﬁnﬁaé& ndhi National Rural Employment Guarantee Act
(MGNREGA) ? : i

(A) Guaranteeing 100 day emp!oyrﬁen-t per year
(B) Offering employ in the private sector 7
(C) Targeting onlysk r |
(D) Providing urb%wp oyment P
ASEAN ( Tety F 9RA w1 TR S Hifa o 9 e 8 7
(A) 3 & Wy I, Hmﬁmaaﬂtm@ﬁmwﬁrﬁm%ﬁ%
(B) ST FA F & C i
) oo gedi W @fm ey

T

2 §

(D) STeTEETS AR Y g A e .
In relation to ASEAN, what is the importance of lnd|a s Act East policy ?

(A) Enhances economic, strategic, and cultural tles with Southeast Asian countries
(B) Reduces trade opportunities -

(C) Limits diplomatic engagement oy
(D) Promotes isolationist policies
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(A) <ear-3 faem (B) wrd affefex faer

5L - WA R (D) - -2 firert loration ?
Recently, which mission received the 2024 John L. ‘Jack’ Swigert Jr. Award for space exp
(A) Chandrayaan-3 Mission (B) — Mars Orbiter Missron'

(C) Gaganyaan Mission (D) Chandrayaan-2 Mission

DDoS &I Fdl Wi T ey .

(A) Tefgsres 2w 9w widy (B) " eriae fema sl afda

(C) fTeire fomat aiiw wffa (D) - fefigmyee feamer 31h

Full form of DDoS is iy :

(A) Distributed Data of Ser\nce (B) ~ Direct Denial of Servi x

(C) Detailed Denial of Service " (D) Distributed Denial

2014 ¥ WA ¥ e Wiy [EhR fFe v fman ?

(A) med A (B) Fumweneff (C) wR (D) fear gUg

Who received the Nobel Peace Prize in 2014 in India ?
(A) Amartya Sen (B) Kailash Satyarthi (C)

Ji9s g ' e ow 2 afew! mﬁ‘m

otherferesa (D) NadiaMurad

(A) To= Im (B) UH.TH. &M : et (D)  fd Bt
Famous book ‘The Return of the Native’ ig » i whom ?

(A) Bill Gates (B) MM.Kaya, " _(C) LioyDouglas (D) Thomas Hardy
T Frfafaa ® 9 fora 9 % v i e :

(A) TEE=F (B) 0‘ =_(C) wdieH (D) ¥HENE

Ellora is a sacred site in whicf e following'state ?

(A) Rajasthan (B) at — (C) Karnataka (D) Maharashtra

ifafamrt =i €2

(A)

(B) St <t U
(C) F

(D) TR

Who ..1‘

(A)

(B) Scientists who study the behaviour of;'humans
(C) Scientists who study only plants
(D) Scientists who study ethos

mmﬁwmmmmmmmmmmmmﬁmwmﬁv

(A)  wREEM (B) F@w  ,5(C) @ (D) Ffagd -

Which traditional dance form originating from, Uttar Pradesh is recognized for its dramatlc storytelling
and intricate footwork ?

(A) Bharatnatyam (B) Kathak (C) Chhau (D) Kuchipudi




64. THTHS HE SH A (PMFBY) == 2

(A)

(B)

(C)
(D)

%ﬁm@ﬁtumﬁmwﬁqaﬂ?m%m%aﬂtw fafteli =7 e feparl 1
TSt oM w5 3 o Ly R

wwwmﬁgwwﬁ%mwwﬁﬁaﬁ@m$ 379ER 9SH

qgﬁmﬁraﬁﬁaﬁmm%aﬂtmaﬁm% T, sfaa gea gfafim @ €1
FH A § wRAT IRA H T FA Y|

What is the Pradhan Mantri Fasal Bima Yojana (PMFEBY) 7

(A)
(B)

(C)
(D)

65. fooet 3R dmmm S Wive Hifew wewH W SliwEe

(A)
(B)
(C)

WA H AT ) T o1fyes ©
WA 1 ST fas= o fog fpan s @
(D) G T TFR ST fopar s &

What does “verified account” signify on soci

Supports and promotes organic farming practices and provides sub3|

he
adoption of sustainable agricultural methods:-.. to farmers for t
PMFBY improves rural infrastructure and provides employm
agricultural communities. ploymenfac rtu ities to youth in

It regulates agricultural markets and ensures fair prices for farm

! _ uce.
Supports sustainable production in the agriculture sector.

wwwﬁaﬁmﬁamwﬁwﬁa%aﬁ?mﬁm :

Iatforms like Twitter and Instagram ?

(A) The account belongs to a public figure 5 nization and is authentlcated
(B) The account has a high number of "
(C) The account is used for advertisi
(D) The account is frequently u
66. TMT TSR Sl WEHIHS srielt B STaTg R T R 2
The Universal Declaration o Rights is translated into how many languages ?
(A) 200 (C) 500 (D) 300
67. Toa a3t ' L
(A s B) STHIIEH (C) M (D) ST’
‘ Real is the cu hich country ? 7 ;
(A) - (B) Afghanistan (C)——f _Bhutan (D) Canada
68. T (qﬁaﬁ@m%@)#ﬁww@,ﬁ%ﬁ
(A) 5 ofieR T o= =t agmEn <1
(B) zgﬂtﬁuw%éﬁr%mawzﬂaﬂtwﬁgmml 3
(C) ﬁm%wéwamw-wﬁmﬁﬁHWWl

(D)

<feror-qd T & Wiy onifYfer iR Wreftes el ! Heted e |

What is the main purpose of India's Look East Policy. 2

(A) Promote agricultural development within India:. ¢
(B) Improve relations and trade with European Union countries.
(C) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(D) Strengthening economic and strategic ties with Southeast Asia.
MYZ-24 9 P.T.O.




69. 1942 T WRA VIS NEIeH & THY WA 1 TR i & ?
(A) W€ o (B) Wi WEeEA
(C) e sfem (D) ~wire femfaerm
Who was the Viceroy of India at the time of the Quit India Movement in 1942 ?
(A) Lord Wavell (B)  Lord Mountbatten
(C) Lord Irwin (D) Lord Linlithgow
70. F Fege ¥ T A TR A IHF SR ey arger e ¢ ;
(A) Ty (B) I Reggfin (C) ey (D) E-Ft =nfEET
involves changing data prior or. durlng input into a computer
(A) Smishing (B) Datadiddling ~-..(C) Catfishing E-mail bombing
71. TS, HIUREE AR AL T
A) STy wufd (B) =M w9 (C) FrEw Wzﬁ Hafa
Trademarks, copyrights and patents are :
(A) Intangible assets (B) Current assets (C) (D) Fixed assets
72. ﬁ#m%mzomﬁﬁzﬁsﬂﬁm@ﬁaﬂ%mﬁw qEell ¥ o7 T4 ?
(A) STUH (B) ST HWRAMER = = (D) aﬁ—w
Which country became the first to make usga of i
(A) Japan (B) ElSalvador .7
73. Trafafaa § 9 W @ 39 y&@memen § 44
(A) Fares fhren
(C) WA
Which of the following countries w. first.
setting ? =
(A) United Kingdom B)— ASowet Union
(C) France © (D) United States of America
74. T4 TG 1 ygue i %%mﬁ’mm%?
(A) } (B) I <hl UBE TR
(C) JikE (D) @E <1 wee &7
Which day ed as No Smoking Day*2_ .
(A) (B).. “First Tuesday of March
(C) (D) - Flrst Day of May
75.
(A) )
(B) wufa Rremsit HRRIS 9%y HIRe™, Jag-=-. |
(D)
Which is the largest museum in India ?
(A) National Museum, New Delhi
(B) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai
(C) Salar Jung Museum, Hyderabad
(D) Indian Museum, Kolkata
R e e
MYZ-24
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T Tafem v=ufe w2 od & forg 5% =t <t @ wshafs = 3280 ¥ R, o gw i fhat €2

The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is -
(A) Rs. 36000 (B) Rs. 32000 (C) Rs. 34000 (D) Rs. 30000

A 6 BT =1 aifgg TR 50 FRm Y, 2 SEI 1 e MR53 fEm Y, 3R 2 ol @ sivga wrss fem E, At
BT 6T 3T AR

(A) 525 fem (B) 55 fam (C) 51.6 fwm (D) 64 fawm

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 525kg (B) 55kg «(C) 51.6kg (D) 64k
39axﬁﬁwﬁr|“aq1oaémmmﬁ=ﬁﬂ@maﬁwwmma%%aao ufafe 6 =i
Xk W R G ¥ qu s ? -

(A) 26 f= (B) 14 f& '(0) 15 T D

39 persons can repair a tunnel in 12 days working 10 hours a day. In

days will 30 persons
working 6 hours a day complete the work ?

(A) 26days (B) 14 days (C) 15days ( 20 days

I g 9 g feR 990 31 1330 i faifea e 1R 10 FOhel YT 2iell @
The greatest number which divides 990 and 1330, leaves remainder's and 10 respectively is :
(A) 35 (B 15 (C) 20 (Dy 24

300 sgsil 1 fashd 7, 500 ﬂ@%ﬁﬂup% T

A 72(213)% B) 66@2/3)% (€ (3)% " (D) 25(2/3)%

30 HEmsl &1 9T 1.2 T 1579 A 9gel 20 & ﬁ- 1 ¥ SIS 9 i afaw 1 %, W sifm dEm R ?

The average of 30 numbers is 1.2. Theaverageof the first 20 of them is 1.1 and that of the next9is 1.
Then the last number is : ‘ 8=, '

(A) 49 (B) 4 :(C) 5 (D) 4.6

Tk STEHT 9 80,000 F9 H Teh_HIS MEr @A | ST S HY 10% o a1 W TR TE I 5% Ht

T /T fomn 138 3 ©

A man bought a horse
carriage at a loss of
horse ?

(A) 32,000

o% T TSI &, T SIS S AT e 4 oft 2
riage for Rs. 80,000. He sold the horse at a gain of 10% and the
ined 1% on his whole transaction. What is the cost price of the

18,000 (C) 20,000 (D) 30,000

SRR IE o8 = Rt ShiEd 40 T9A/TReium oIk 30 T/ fhaum ¥ 1 <1 S 6t
| o aifer fagror Y 32 TR/ feRetiumd W e U hIS o 1w T 2

The rati6 of ‘quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar sh mixed so that there is no gain.or loss when the mixture is sold at Rs. 32/kg ?

(A) 3:1 (B) 4:1 J(C) 14 (D) 2:1

T foened ¥ 6 TRA-TS w1 T < | U WRA-99 ¥ fw sifuehan 3 THEEE € | 3 WA-9E 3 S6h
Tish 5:6:7:8:9:10 & Wﬁ%:ﬁﬁwwﬁ 60% 3ich e foht | Se forem weA-well & fereham
3l & 60% W FH 3w Ud T ?

A student appeared in 6 papers. The maximum marks are the same for each paper. His marks in this

paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

A) 3 (B) 4 (C) 5 (D) 2

MYZ-24 11 P.T.O.
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U I S H, A G A 1/6 3 ferw Goft <t 1/6 01 B I 8, B i @ & 1/4 %

Eﬂmm%w mﬁ%m%wcmﬁ‘ﬁwﬂ?mﬁﬁwm% 3 1940 T3 F ¥ H B I fewm
?

th
In a partnership business, A invests 1/6!" of the capital for 1/6 of the total time, B invests 174" of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. :

(A) Rs.120 (B) Rs. 160 (C) Rs. 180 (D) Rs. 200
50% 3T 40% =t ¥ g it Tehet g2 & awer § 2
Successive discounts of 50% and 40% equal a single discount of : <§

(A)  20% (B) 70% (C) 48% 6

12,000 m«gnﬁ%mzo%wﬁraﬁﬁmﬁmm

The compound interest on Rs. 12,000 for 9 months at 20% p mterest belng ComPOU"d
quarterly is :

(A) Rs.2089.70 (B) Rs.2136 (D) Rs. 1891.50

A T %1 1 63 Tl # X Tehal & 3B, Aﬁm 40% ww% 47 =6t % i S H B8N
foe T R 5 e w2 P

(A) 60T (B). 45 f —~(C' (D) 40 fea

Acan do a piece of work in 63 days and B is#@0% more efficient than A. Then the number of days taken
by B to do the same work is : = :

(A) 60days (B) 45 day - (C) 49days (D) 40days

TF o1 79.2 st/ =t nfa 4

e7 e # T WY W FE § A T F i 7w
hifSTq | =

(A) 126t (B) @?@ 7=, ](C) . 150 7t (D) 1187t

A train is running with a 9.2 km/hr and it crosses a pole in 7 sec. Then find the length of the

train :
(A) 126 m @ 154 m (C) 150 m (D) 118 m
\ T % 8% o e SR ATS f9ha T 1 9% T T T 2 99 H 10% s

qual to 8% ofC P. and |f9._{g S P.is Rs 2 more than 10% of C.P, then find C.P. and

1""([

(B) 700, 800 :?‘(C) 800, 950 (D) 350, 700

3 T R BT S 3+4+6 %, T PR GRIHA T8 7 O H T A T T S 12

The ratio of speed of 3 cars are 3:4:6. Wh —:t. s.the ratio of time taken by these cars to cover the same
distance ? :

(A) 6:4:3 (B) 4:3:2
0.7, 0.35,1.05 I #.9.9.(HCF) maﬁﬁﬂqn
Find the HCF of 0.7, 0.35,1.05.

(A) 0.7 (B) 0.35 (C) 1.005 (D) 0.07

(D) 3:4:6




93.

94,

95.

96.

97.

98.

99.

Ifg forelt o5 T AT 9o Q@ 40% Aferens 3ifra €1 afS avg & siferd 909 Wx% &l g2 Wt &, @ 12%
o1 SIfTH 9 WG S & | 376 Al Uk TS G, 1 A YA 2,400 T © 3R x% @ difisd §, ¢ 59 95
=1 fasha e = g = ? 7

An article is marked 40% above the cost price. If a discount of x% is given on the marked price of the
article, then a final profit of 12% is obtalned. Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that new article ?

(A) Rs. 2,480 (B) Rs. 2,880 (C) Rs. 3,480 (D) Rs. 2,400

ST Tl BIS &9 & T 66 M/m%ﬁhmﬁm#mawﬁﬂﬁr 55 fereft/=ie 2, < Seta W, a9
feren fire Thclt © 72 {

Excluding stoppage, the speed of bus ls 66 km/hr and including stoppage it i /hr. How many
minutes does the bus stop per min ? |

(A) 19 (B) 20 (C) 10

I a7 qd i eIk e weh @2 ¥ 8tk 270 Teuht amed g7 <N €, @ feam =t A e w0 T
?

(A) < B S® _ © ;F (D) dfzm

If you start facing East and turn 270 _c_i __grees anticlockwi wha direction are you facing now ?

(A) South (B) North M. o (C) (D) West

T Tt s 9T H, ‘ELOWER' st hF@ELW’ &v@« fea ST &, 1 ‘ANIMAL <1 58 SR ferat
In a certain code language, ‘FLOWEE;};; s ‘RFOELW’, then ‘ANIMAL’ will be written as :

(A) LANIAM (B) LANJAM. } (C) LAJDNM . (D) LAIANM
Trefaiaa & | A 91 A5 © e- g2

Which of the following seque different from the rest ?

a. 1,4,9, 16 : 1, 8, 27, 64 : i1

. 2,6,12,23 » . 1,16, 81, 256 - b ,

(A) 1,8, 27, .. 2 812, 23 (C) 1,16,81,256 (D) 1,4,9,16

EL @«ﬂﬁw&'wﬁ?ﬁaﬁwﬁ%ﬁﬁqwﬁmgmmmﬁmw%l
Selectt in which the numb@rs share the same relationship as that shared by the given pair of
numbers. ' P

12:20 ' od

(A) 19:33 (B) 30: 42= (C) 25:57 (D) B34:31 .

sigen ¥ g SEAd (A aﬂ?B)s{mm’{aﬂIB A 1 T 1d |

i

Find the missing numbers (A and BJ m ihe series and find the value of B —A.
11, 2233A55667TB

(A) 55 (B) 88 (C) 33 (D) 44

MYZ-24 13 P.T.O.



100. 39 TH{ hl 9= ST e bl U FHwdt &

101.

102.

103.

104.

105.

Identify the figure that completes the pattern.

?

X) ced

) z
A wtd w7 aba
Pttt et 8, ST R e e 3 A 57 v fa e ¥ | 1 e T 9 % A&

T SN F S AT S Al § | 3 VISE g |

T T vss : "MACHINES” y One of these
In the following question, you'll find four other words provi ide a given worc:i. 2 neoe
words cannot be formed using the letters of the given w \f fcantify thatworc

Given word : “MACHINES"
(A) SEAM (B) NAMES (G CA (D)

RK59#B2%*E?A8L$14SV7ICEN@

R R sjEen o avren ue Fruifa Y : 542 ;,
Examine the following sequence close e
RK59#B2%*E?A8L$14S V7!

Determine the next term in the se
(A) Hi& (B) L8$
Feift v G

[ECTL RC s - T ol ()

(A) 9x

Find out the relat

Triangle : Paly
(A) Circle

MESH

(D) l6@

(D) =gHs

e:?
B) Rectangle (C) - Rhombus (D) Quadrilateral

Qo

(D) iU

Surgeon : Scalpel :: Carpenter : ? o
(A) Camera (B) Brush =(C) Saw (D) Computer
1=

4% % ‘RECONCILE’ % 43, 53, 73 3R 83/ 31aR 9 U Wrefer =R 187l 61 Yo, <11 ST el &1 57
e 1 FAT T fehe Srefqol e ST S Hehd €2 |
(A) = CX +(B) Gk LiC) =r (D) TH

If a meaningful four I&tters word can be formed from the 4th, 5th 7th and 8t [etters of the word
‘RECONCILE'. Using that letters how many meaningful words can be formed.?

(A) Two (B) Three (C) Four (D) One

MYZ-24 14




106.

107.

108.

109.

[ -]

200 B! & T & MUR T, 140 B I Fies T weig §, 120 T I foehies y6s 8, 3fiw 80 BEA
=1 2A1 THE €| foran BE) ) %0 A HH T 99 9HE § 2

Based on a survey of 200 students, 140 students.like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at least one of the drinks ?

(A) 200 (B) 140 (G).. 180 (D) 75

R T e A W SRR R I DI ; )

Find the missing letter cluster in the given series.; b

BYHN, CWKM, EUNL, Lar ey

(A) HSQK (B) HRPQ (C) J GSPK (D)

Frefafag ¥ ¥ S W s afeenstl, AeT oK fymeli & = deidl Y ewiar E?
Which of the following diagrams best represents the relationshi Women, Mothers and
Fathers ?

@ . €y % O@ (D) @O

== T a1 ar uTh & AR 96 2006 "':’:s LSISNBLL U S S A
Tt (1000 =1 FEn H) T | | &Il

The bar graph given below shows the Q;'f' S
company during two consecutive years

muu |

of*bc oks (in 1000s) from six branches of a publishing
: nE?OO?

2006 3R 2007 ¥ T TehTEH HUA Be TETEi -A1 A2, A3, A4, A5 3R A6 | T&hi it Tersh! (BRI
g ﬁ@@“ﬁ) z\‘i v _——""—-_‘

Sales of Books (in thou??%g n ) from Six Branches - A1, A2, A3, A4, A5 and A6 of a publishing
Company in 2006 and é)> .
N 4

yaN

120
100
80
60
40
20

A1 A2 A3 Ad A5 A6
2006 2007

3T Tl % fog wman Azﬁ%ﬁﬁmﬁaﬁ%mwmﬁﬁﬁﬁﬁﬁmﬂw%7

What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for both
years ?

(A) 7:9 (B) 6:7 (C) 5:7 (D) 8:9

P.T.O.



! 7
QUREE R e mm————at e LS R

(A) < ere Ay TR
(B) WY FId T UHS! T
(C) =mgel sveren ® qrm A
(D) <A T W -
In the context, “They were caught red- handed trying to steal”, what does
(A)  Found with red-hands

(B) Caught in the act of committing a cnme
(C) Found injured -

“caught red-handed” imply °

(D) Act of kindness £ y
. W@aﬁuﬁeﬂwﬁmﬁwﬁﬂﬁw&faﬂwﬁsﬁﬁ@am@ qrefe/ SFE0T Ll e |

UG : | o a9 & T €, 9 99w & i €
I < S TR
femd: 1. otw oo @i ueh R
2. Mg W H )
A) T Frewd s ww § (B) %%23@1@%%
(C) vﬁﬁmﬁwﬁwﬁzmm%— ( fireapd 1 STFERT T €
Read the assumptions and select the best conclus onclusion that follow/follows the assumptions

definitely.

Assumptions: | Ajay is the father.of Shireyas, Suraj is the brother of Shreyas.
1. Seemaisthe r-of Shreyas.

Conclusions: 1. Seemaist oA
2. Seemai

(A) Both the Conclusions fo

(C) Neither Conclusion

112. I A%B=A+B-1,
IfA%B=A+B—1, wh

4

“of Suraj
e Only Conclusion 2 follows
Only Conclusion 1 follows

Ld

12 _ (C) 20 (D) 5

A 1
113. T& =/ 10 it T wrern &, fiR 20 Hiet < ol wrera B, fo 20 Tex o1 iR =t 3, fre Sem
10 TR TE 3R 198 & W 31 7 Teherfl g wren T 72
i (B) 51 HiX (C) 25X (D) 45 HixX

sonmoves 10 meters north, then 20:meters to the right, then 20 meters to the right once more,
Ometers to the right again. How far, has he gone from the beginning ?

8 meters (B) ' 51 meters ; = (C) * 25 meters (D) 45 meters

114. HIfdGF Ht 7T F ST T 55 mﬁméﬁﬁ&mﬁm%lmﬁmmﬁﬁﬁwﬁ%aﬁt
I I 8 o hifcien o1 oo 50 TRl § AR AR 60 ffell ¥ w9 §1 SuH w7 % R € R, S9e
mssﬁeﬁﬁafwaﬁﬁw%mﬁaﬁmﬁmﬁnﬁ% qt wifdes & fafis dfaa a’f =57
SEd T ? '

In Karthik’s opinion, his weight is greater than 55 kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik's weight is.greater than 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greate( than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights of\Karthik ?

(A) 57 (B) 60 (C) 59 (D) 58

MYZ-24 16




115.

116.

117.

118.

119.

120.

121.

122.

123.

IfE A 3R B <t 9=1d 70 YR & fif, A A il 9 Gem 20 € B A al @ 9@ 18 ¥ 3l A ik B S A
Tl =t @A 10 ®, O n(A L B) I HIfST 1,

If A and B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both A and B is 10, :fi‘nd n(Au B).

(A) 38 (B) 48 “—(C) 18 (D) 28

<t E sjEen # | 90 Dl Ge ¢ N

Find the odd one from the given series :
4, 16, 36, 64, 100, 121, 196, 256 .
(A) 121 (B) 100 “*4(C) 256 (D) 36

sf@al 1, 6, 23, 76, T 37el WEm 9 i |

Find the next number in the series 1, 6, 23, 76,

(A) 274 (B) 148 (C) 198 (B) 237

48 T TH FH & 14 KA Ao 112”9 5 el 510 TR T S <6 e s #if
48 men can do a work in 14 days. Find the amount of work done by 5 menin 12 days.

(A) 13.5% (B) 9.8% (C) 79% (. IDP) 8.9%

aﬁmIQBSBEAKmﬂ?mHﬁﬁaﬂdﬁmm@@amwmw% T & M % 2l BR

q DT &R T TRM 2

If the name of a game is formed by rearrangmjg‘the lettersif theword TLBSB EAKLA, then what will be
the sixth letter from the right end of the name-of the’game 2 _

(A T (B) B ‘_(C) s (D) E

q@ &1, 12, 144, . 2073631‘:[3ﬁﬁrq % '

Find the missing number 1,12, 144, .., 20 3
(A) 1278 (B) 1782 1 (C) 1287 (D) 1728

qﬁ:ﬂeoaﬁUHG%wﬁﬁﬁam‘w'ﬁ&mBLUEﬁmmﬁWWWD

If RED is coded as UHG, then BLUE. will be coded as :

(A) EOXH ; (B) EOHU (C) EOHX (D) FMUH

forer areh 7 UgeH o Tore SToR shraier | Sfaror it oIk 8 e veran ¥ | i e o ol wear & iR e
feret ook wg=m & fore 15 Wienrer § 1 i oe €t %t faada fan § 90 ferht e ¥ o et v aF
qgaﬁa%ﬁflqsrﬂaaam%a‘a‘aﬁaﬂta@m%aﬁtmq@ﬁ%matﬂam%lﬁm%m%w
# wrater fora fogn 7 €7 | |

(A) dfEm ) T (B) < (© sw. ' (0 w

Lihaan walks 8 m tewards South from his offlce to reach park. Then he takes left and walks 15 m to

reach traffic sighal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach home Office is in which direction with respect to Lihaan's

home ?
(A) West (B) South e (C) North . (D) East

T T g=e 4= #, X fsw = ga fewm Q, 135 %ﬁmw%mﬁwa@ﬁﬁwﬁmma
<fer-ufem fera faem & € ?

(A)  Sw-ufem (B) ST A <C) ks (D) W

In a compass every direction is rotated to 1 35 degrees from the original direction. In which direction

will South-West be if the rotation took towards clockwise direction ?
(A) North-West (B) North-East (C) East (D) North

uﬂum

%-w

¥
\lll
Emiuki

MYZ-24 17 P.T.O.



v Fl (b Y. ‘W "G, a):f ‘S’

124- @ﬁrﬂﬁaﬁ_&'ﬁ, lI\ll aﬁ ‘J" 'S' a’ﬁ- 'D‘, 'R' a,ﬁ' IQI, IO’ a’ﬁ IP" ‘I’ aﬁ' 'K,, ‘M aﬁ Z ] A ﬁ M 3?‘?
o <ime €, < 39 e % ‘ORGANISM' 37y e sam 2 - il bl
In a?c’ertain code, ‘N’ is written as J', ‘S’ as ‘D', ‘R'as'Q, ‘O’ as ‘P, 'I'as K, ‘M’ as Z ,'A'as
as 'S’, then how will 'ORGANISM’ be written in that.code ?
(A) PQDZSMKJ  (B) DZMSJPQK  (C)” PQMKJZDS (D) PQSMJKDZ

125. 3 1 WS Y S aiR fire = el & v a1 oy e @ $2
What is the angle between the hour and minute hands of a clock at 3 o’clock ?
(A)  30° (B) 50° (©).. 75° &W

126. A 5.3 + 243 = 24.249 ¥, T 102 + 1543 7 o A ? x
If 53 + V243 = 24,249, then what will be the value of 792
(A) 3884 (B) 37.84 (C) 408 (D) 39.84

127. T U H U oTeH, SHE Ueh, Sud SR mm%mﬁﬁ fEr B @ o= Wi 91
el § T @ &2 _
A party consisted of a man, his wife, his fo their wives and three children in each son’s
family. How many were there at the part ;
(A) 20 (B) 22 x% : (D) 18 s

128. 6 =R U, V, W, X, Y iR Z & %A § A 3 AR A AL IW, V g, S S
1 =t A S ¥ 1 X, WA B U ¥ g3t X, U 9 Sier & | 78 9 <o Hed ol i © 2
Among 6 persons U, V, nd Z, it is knownthat; U is taller than at-least 3 persons. W is taller
than V, who is taller than person. X is not shorter than W. Y is taller than U and X is shorter
than U. Who is 4th tal g them ? hrulihe
A U %w ©)= X D) V

- 129. = =g @S . :

Find the diss word.
R54, WEE 36, Y75
(A (B) Ue63 (C) Y75 (D) Wes

130. TIF R A el H& J hig | =
Find'the number that comes in place of the ques tion mark.
1:1:7:169 =
(A) 15 (B) 13 - (_)_ 18 . i (D) 14

131. M,N, O, P ﬁtomm%lmﬁﬁuﬁmﬁﬁiﬁ;w—w%l O, P 3R N & o ¥ siR Faat M aiR
Q9 B B | e Tk =i N @E‘lﬂ%lwﬁ@gﬁﬂ%?
M, N, O, P and Q are five friends. Each of them'has a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shorter than N. Who is the shortest ?
(A) M (B) O (C) N (D) P

2 rssamvinsss e

MYZ-24 18




132.

133.

134.

135.

136.

137.

s # e T R Pt & § HA-w A e ?

Which of the following figures will come inthe'missing place in the below figure ?

OO 2]
W [Ol @ | O V] @4

frefafaa sEe | o Se Hi e il
Identify the incorrect number in the following series. o
12,10,6,1, -8, —18

A) 12 (B) 10 () ~18. AN D) 1

g asmﬁméﬁv%aﬁzﬁ offi 313 1 e o | A T AR S B
mm%ﬁégﬁzﬁwﬁwﬁ%ﬁﬁﬁmwﬁwmﬁmwﬁﬁwww
'E'?

In a school sports club, 25 students demded_ta, pa_rtlmpate in a table tennis singles tournament. Each

time a student loses a match, they are ehmlnated fro the tournament. What is the minimum number
of matches required to determine the wmner‘ﬂ

(A) 25 (B) 26 . -"="(C) D7 HFOIWILL XY DY o4

N

FIT-TaM I 3THR T, mwﬁﬁmﬁmwa‘a www@qmmm%7

(A) (B)m m (C)  eTEwSIren (D) TR
What is the shape of ‘"the crdss-section, when a cone is cut by a plane parallel to its slant height ?
(A) EIIipse “(B) Circle (C) Hyperbola (D) Parabola
o o7 i ' |
Find the odd one. . _
@ ) o
(A) (B) @ @ (D) @
® [ ® L
e foerea g <t anfendi & i 2
(A) ¢ efemt  (B) eIEM (c) Ifgor e@fm (D) WA
Choose the option which is different from the rest.
(A) NorthAmerica (B) Argentina (C) SouthAmerica (D) Europe

MYZ-24 o e 044 o 14 o 4 vt ' 04 4 8 P e eyt et s 4 o1

P.T.O.



138. 9T A, B, C iR D # & Fo (X) 1 et wror—wffirar gfiTC!

nd D.
Choose the correct water-image of figure () from. alternatives A, B,Ca

X N
@
o —— -1
3 o2 o o B2
) x] ® [X & < = (D)
139. I W H Y
gl : W G
(A) FA (B) q®wMA (C) 3u=t &
Complete the analogy :
Rain : Flood :: Drought :
(A) Famine (B) Storm (C) Harvest ) Abundance

140. qamaﬁwﬁqeﬂx%ﬁwuﬁamﬁeﬁaw%mﬁ%
(A) TR Sl i i € swin TR-Teemng 9 ' %r
(B) ﬁwaﬁwﬂqwmwmwmaﬁmﬁ qaferl % SIE ¢ |
(©) -t sl v & e @ 8, Tt A ot i et 3 T 99
(D) et St Bdl Bt THa % Wy @ & fFy @ 3R 1 o1 &, STl TN
Sl | TR o TR |

A renewable and non-renewable ener
(A) Renewable energy sources are fi
(B) Non-renewable energy sourc

sources. g

(C) Non-renewable energy%rces e denved— fr om the Sun, while renewable energy sources are

3 edlﬁerent because
ilenon-renewable energy sources are infinite.
more-e?nwronmentally friendly than renewable energy

derived from the Ea

nbe replenls_hed naturally over time, while non-renewable energy

(D) Renewable energy so
sources cannot
141, i  AfEd 1280 BAfeREl i U TR Uw e A 9T @ @R 19 T 15 S % oy, T
A fore Riare €2

duals, consisting of teachers and students, is attendmg a conference. For every
one teacher. How many teachers are in the group ?

(B) 80 (C) 85 (D) 70
(X)ﬁmwgﬁﬁﬁ?—fﬁa@ﬁmmm%a

142,




143.

144.

145.

146.

147.

148.

HIH-T1 ¥es THE § T § 2

(A) TSR (B) e (C) ®= (D) =
Which word does not belong in the group ?
(A) Carrot (B) Banana (C)_ Apple (D) Cherry

T T #, T Fawdt 100 i @ % 81 € | Uedeh SR Y, e Faeire i it o1 @ g 31 5 18
% =1e, Ufer % 130 37 €, e % 90 o7 ¥, =l % 120 st § SIS F 110 o ¥ 1 9f 2y 3
3 e ¥ 30 3k W foRg, it ifid 2 wEe & o R ofe amd 2

In a game, each player starts with 100 points. In each round, a player can gain or lose points. After

5 rounds, Alice has 130 pgints, Bob has 90 points;.Charlie has 120 points, and David has 110 points.
If David gained 30 points in the first 3 rounds, hOW-:‘[pany points did he lose in thedast 2 rounds ?

(A) 40 (B) 20 (C)5 80 (D) 16~
afz A+B 131 §Th A, B W &; AXB %1 a1l 6% A, B i £ sin A-B i £ 5 A, B 5 52
%, Frefafaa § 9 sF-w dey guia & e |, K =5 spfish 22

IfA+BmeansAis thq brother of B; A x B means A is the father of Band A~ B means A is the sister of
B, which of the following relations shows that | is the niece of K ? -

(A) K+YxI-Z (B) Z—-IxY+K (C) KxY+I|-Z (D) K+Y+Z-—I
fow g ot ® Fraeil (griew ) =+t gemn e | '

Find out the number of triangles in the figure:

1
3/415\6 e
2 718
9 13
10 12
14 11 16
15
(A) 39 . * (B)ey 480 D) 32
3T 1 Gl e | A &
Findthe nextone.
’
b . ®) (D)

forom g+ |

Find the odd one out.

P EAN I

o | NA

MYZ-24 21 P.T.O.



149. fSar i ymrd T 9 §2

A 2 H T T (B) < v § T €

(C) i it % feem Fraprr & () 2 warg @ A ST
How are rivers and streams similar ?

(A) Both contain saltwater (B) Both are found in deserts

(C) Both are static bodies of water (D)" .’Both flow downbil

150. Heper fen Sz ¥ wama eed F W F R Uil w Rem R

a. 1w2023wm23ﬁzsaﬁf%aﬁa|

b. = srgya a1 Wiufi egvE |

c. mﬁmqm%m%mamwmﬁwm%ﬁl &

d. A HS50 H Y w25 oHmI -

e. af SRR ¥ W PG 7 21 W AR Hepr T =feT |

f. o SeicaR ety § =am oid W T S, @ ¥ fifeger 1 AsT L |

9. ?ﬁ?ﬁﬂm@maﬁ@mmwﬂﬁw ‘ %,?ﬁqm%aésﬁ%wﬁﬁa
ST -

Frefefad SHel & YR W oy $UR & fae Sig-dt Har $t S =gy 2

T FHR : M.Sc. $7 2 EH 62% 3! fafer 1og—mé 1990 | SR e o T 7

4 T I I | S F 40% 37 9T Tpell

(A) SHISIR HI SR €FE 959 % *
(B) HHIGAR &1 ¥4I &I Tera '
(C) < uaiw §
(D) HMEl &g & TR s

Consider the conditions f

~Papop

If the.candidate does not score minimum marks in the interview, the case is to be referred to
’ @ ofthe institute.
‘the candidate satisfies all other qualifications except the age limit, the case is to be referred to

e director of the centre.
nich course of action should be taken for Manish Kumar based on the following information?
Kumar : M.Sc. in Computer Sclence  with 62% marks. Date of birth : July 10, 1990. 4 years of

experience as a computer teacher. Obtaingd 40% marks in the interview.
(A) Candidate is to be selected as a jumorjaculty member

(B) Candidate is not to be selected et

(C) Dataisinadequate

(D) Case is to be referred to the director’ of the centre
ﬂ‘”g 3

W ',-1




